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The one who maintains that - 7502 770 Spa K5 1R WK ART INP
an Oh’shom Va’dai does not require knowledge beforehand

OVERVIEW

There is an opinion that for an *X71 QWX to be 7927, it is not necessary for the sinner
to be aware of his sin before the 1277 i1s brought. If the awX is brought (for
whatever reason) and then he becomes aware of his sin, the awX is 79371 (not like
by a nXvrn where it is not 1937, unless the sinner became aware of his sin before he
offers the nxvm). There is (seemingly) a dispute between >"w and mo0In as to who
is this 7"n who maintains 77702 7¥°7° *¥2 R? *RT) QWX.

= (3,95 91) 9592 NVINY DT P92 199V 239 RIPY 2297 RNNIJO NIINT 209013 WI9*9
>'"w9 explained that there is a dispute between »''% and ©''1 in the 7w 27 po2
in N5 Noon —

mooIn disagrees:
= MNYUN NV NANY RIPY 229 9IRP D211 NDIYNI XPITT 30NN 13N XNT XD

And this is not so, for the maw» teaches there that only by a ‘large’ 7%°v» does

V''9 maintain that he brings two NY2@R (one m7n owx and later when he finds out an owx
m>wn) -
= MNYUN YNV N2Y 1Y 20T DIVN

! One is liable to bring a WX 7277 (which is a male ram worth two 2°¥%0), if he was either w7pma v, stole money
and swore falsely that he did not steal, or was 212 a 7911 79w,
29"n% 17"72. The case there is where there were two dishes in front of a person, one of w7pn and the other of 7211, and
he ate one of them, but he is unsure which one he ate. ¥"1 maintains that he brings an *12n owx (as the case would be
with other 190°X °»00), because he may have been wTpin v, however he is not obligated to pay wpn the wam 17p
for this 77°v» po0, unless he finds out that he was certainly 3. At that point he pays the wmm 179 and brings a
(second) My owr. However v disagrees, saying; why should he bring two mnwx; rather he should bring the 177
wmm payment and a ram for an owy, and he should stipulate: ‘if I was ¥, I am paying and bringing an m?yn Dwx,
and if I will never ascertain whether I was %y, the 2°X should be for an *¥>n owX and the money is a donation to
wpn.” It is evident that according to v", if he realizes later that he was 5w, the awx that he brought previously is a
valid m>yn owR, even though that at the time when he brought it he was not sure whether he was 71; there was no
72°nn2 nv°7, and nevertheless it is a valid Mm% ¥n owx 127p. It is v"Y who maintains 7Y°7 *¥a 82 (M?2°¥n) XTI QWK
monna.
3x,20.
4 A owX 127p (whether an »%n owX or any other owX) cost (at least) two o°v%0. Let us assume that his 79°vn (790) is
worth one hundred 2°v%0. According to v"1 (see footnote # 2) he would have to pay wpi 125 o°¥%0 (for the 19p -100
and wmn -25) plus two 2°v%0 for an owX. He is spending 125 0°¥70 on a o0, since he may have not been 7y1. It is
better for him, argues ¥"1 that he should bring an awX now for two 2°¥20 (so he is saving right away 125 0°v%0), and
(worst case scenario) if he finds out later that he was ¥, he will pay the 125 o°v%0 plus two 2°v20 for another awx.
The price of two 0°¥70 is worth the gamble to save 125 o°¥20, which he may never have to pay.
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For it is better for him that he should bring two nn»w\ -
= 1129 INDOVN NN I Y11 XY ORY NINM 1NN DUN N¥2PYUN

Rather than bringing one 2wX and stipulate that if he will never become
aware (whether he was %y or not), his 77297 payment of a w»m 777 should be a

donation -
= NN AN OYUN NNV NI*PY 229 A SHVYIN NYYYNA YaN

However by a ‘small’ 7%°p%, even ¥''9 agrees to v" that he brings one awx and

stipulates -
= MNUN SNY NXDWUN PADN Y NUMN N9 111 1Y M)

For it is beneficial for him that he should rather pay a small 7%°%» payment

even on a doubt, than he should bring two n»wN, which are more expensive -
= 9NN NPT YA NY INT DUN 411D DY 192919 N92)2 )3299ND)

And X217 concludes there in the X9%3, ‘from both their statement (0" ¥"7) we
can derive that an >X71 2wX does not require a ;75103 Y7,

n1voIN asks:
=19 ¥RYN RP NI NPT YNRYN MNYN DY X231 NID N9 9INPT 11990 239 99NN ON)

And if you will say; v''9, by saying, ‘why should he bring two n»wy’, indicates

that he is giving us good advice not to squander money for two mnwx as ¥"3 rules,

however -
= N2PY 229 9INRTI MNYN INY N22Y 1D 2)0 )9 ON )09 N9 NDIYNIAT 119 NAYIN

Since v'"1 and ¥"1 argue by a ‘large’ 7%°w%, so on the contrary, it is better that

he should bring two m»wx, as ¥''9 maintains -
= 75PW9979 NN NP NN DYUN NIIYN

Rather than bringing one a2wx 1277 and his 77%°p» payment and stipulate like
v'"9 maintains, as I explained. How do we understand the 71210 739" of 0"?!

nB0IN answers:
= MNYUN SNWIA N92aY > RE 1N ODIYD NON 90NRP NIV NXY IND 1129V 2297 910 v

One can say; that ©''9 is not offering an 731w 172y, but rather he is stating that

5 Let us assume that the worth of the 72°y» (Po0) was one 72°7 (a quarter of a ¥70). In such a case ¥"7 agrees with v"2
that it pays that he should bring an owx (for 2 o°¥?0) and the payment of a 717 (and a fifth), and make the
aforementioned stipulation since it is possible that he will never find out that he was ¥ and even if he finds out, he
does not need to bring another owR; his total expense is 2 2°¥20 and a quarter (plus) 2°v%0. However if " would
follow his ruling, he will have to bring another awx (if he finds out that he was 2¥) costing him an additional 2
0°¥90 extra. It pays to pay upfront the 11°7 plus, in order to save two 2°¥20 (about 8 times the amount).
¢ According to MmN both ¥"1 and v maintain that an 7570 7Y°7 °¥a XY X7 OWR.
7 See footnote # 4.
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he will not be relieved of any :79%ap by bringing two n»wR;® he will not be atoned
for his 77> poo through this »1on owx —
= 70 NN DYN NYYW NIN

Unless he brings the awx 1277 and the 79°w% payment and he stipulates.

n1voIN asks:
= 795999 OUN NVIYNIY N2YINT MNYN NV N3 INNIN 1°N:I’P)’ 2499 9NN ON)

And if you will say; but according to ¥''%, why does he bring two nmn»wR, by a

‘large’ 72°vn, and by a small 77°¥1 he brings the 2wy and the 799" payment -
= INYOPN N2 IN Y1V 1N 1N OUN DY) NI

Let him always bring one awR only, and stipulate, and when he will become
aware that he was %, he will then bring his 75V payment —

nBoIN answers:
NN 13RD 9NDru) NYAN NIY T 1NMWUNR NaND 129987 0IVN 9919 v

And one can say; because the Xn»12 maintains that one who brings his 2wy 1277

before he paid the 779°p» payment, did not fulfill his obligation and the owx 1277 is not
valid; he needs to bring another owX after his payment.

SUMMARY
According to NN, both v"MN ¥"1 maintain 77702 7Y°7° *¥2 K2 °X7) oK. They argue
whether an 90 awR is effective when no payment was made (¥") or not (v"). All

8 According to v", if we would follow the advice of ¥"1 and bring first one owX (as an 20 owR), it will not be
effective as an "2n owx since he did not pay the wmm 17 to wpa. By all other 220 nwR there is no monetary
issue (it is only a P20 whether he was 721 an Mo°R), therefore the "0 awx is 19on (temporarily). However here,
since he may owe money to w7p, the "1on owk will not be effective (even temporarily), unless he pays the wmm 17y
Poon. [When mpoin writes, 'MnwR °nwa 7702y °7°n KX 1K, he (seemingly) does not mean that if he ultimately
brought both m»nwX and paid w7pi that he will not be forgiven (for he will be forgiven), rather n1901n means that the
approach of two mnwR presented by v"1 where he does not pay w7pn initially, will not be an effective ">n owx. See
nnR Now)]
9 See footnote # 2.
10 See footnote # 8. ¥" (presumably) maintains that the "7 awR is effective even without paying the wmm 17p. So
just like by a 71217 72°y he brings an 70 owk without payment, similarly by a noyn 79°v» let him just bring the
owR (without payment) and stipulate that if I never find out whether I was %y this should be my "%n awx (which is
valid without payment according to ¥"7), and if I find out that I was v I will bring the payment and this should be
my N2°¥n awR; why pay upfront?!
' He should stipulate that if he will never find out whether he was ¥, this should be an "%n owx (which does not
require payment according to ¥"), and if he will find out that he was v, this should be the n2°y»n owx and he will
then pay the wmm 17p to wpn.
12 This is a X072 in &,X°p p"2.
13 1t is only by an >17n owx that ¥" maintains that it is effective without payment; however an nm?y» awx is not
effective unless it is preceded by paying the (W) 1p.
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agree that an m>¥»n owx is effective only if it is brought after the 7%vn payment
was made.

THINKING IT OVER

According to Moo that both v"9 and ¥"1 maintain 72102 7Y°7° Y2 KY X7 DWN,
what does the X713 mean by saying, 73°nn 7¥>7° >va X7 X7 awR 7"1n%, who is the
other 7" who requires a 7°nn2 gy 72114

14 See n"mn ,R"wIN.
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